Process ey U 1244
tH(tt)W (C;=-1) 0.13£0.14 0.10+012 0.12+£0.12
tHWW)W (C,=—-1) 047+048 0.28+029 0.35+0.35
tH(t7)q(Ct=-1) 090+£091 059+0.61 0.56=+0.58
tHWW)q (Ct=—-1) 373+£384 255+262 1.73+1.80
Total signal (Ct = —1) 522+398 353+271 276+193
W*W=qq 6.03+0.85 4.60+0.68 —
WZ, WW,Z7Z 883+£325 547+210 1.19+0.14
Rare SM bkg. 257+1.23 140£0.68 0.11+0.03
tty*  1.04+£042 0.50+0.20 —
tty 2024060 0.09+0.03 —
ttZ 2.87+050 223+041 221+0.36
ttW* 14.85+3.32 10.18 +224 3.03+0.51
ttH 324+047 226+£034 152+0.18
Charge misid 6.96 £1.76 — —
Nonprompt 63.7+125 333+83 31.4=£6.5
Total background 112.1£135 60.1£9.0 395+6.6
Data 117 66 42



